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1. Consider the following statements :

The legendary ruler Marthanda Varma won a decisive victory against the Dutch
which was

i. The most fearsome military and colonial power of the time.

ii. A quasi-government in Travancore.

iii. A trading company.

iv. The ruler of Kerala.
Which of the statements given above is/are correct ? Select the answer using the
options given below.

A) Only i B) Onlyi

C) Only ii and iii D) Only iv

2. Which of the following statements is correct about the formation of the Indian National
Congress in 1885 ?

i. It was started by the British initiative to act as the Safety Valve to curb anti-British
feeling.
ii. It was the culmination of political awakening and national consciousness to achieve
anti-imperialist objectives.
iii. The educated elites founded it to fulfil their aspirations of grabbing political power.

iv. It was founded by Mahatma Gandhi.

Select the correct answer using the options given below.
A) Only iii B) Only i
C) Onlyii D) Only iv

3. Consider the following statements about the Round Table Conference, 1930 — 31 :

i. The British fostered the idea that the conference was a failure in order to diffuse the
success of the Civil Disobedience Movement.

ii. Gandhi returned empty handed from the Conference.
iii. The British were serious about granting Responsible Government to India.
iv. India was promised independence at the Conference.

Which of the statements given above is correct ? Select the answer from the options

given below.
A) Onlyiand iv B) Only ii
C) Only iii D) Only i
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Consider the following statements :
The American Revolution of 1776 precipitated into serious and open conflict against
Great Britain because

i. The Americans opted to go outside the British empire and its controlling system.
ii. The Americans were inspired by democracy and republicanism.

iii. The British Government in the colonies treated Americans as subjects of British

monarchs.
iv. The Americans desired freedom from Britain.

Which of the statements given above is/are correct ? Select the answer from the
options given below.

A) Only ii and iv B) Only i and iii
C) Onlyiandii D) All of the above

Consider the following statements :
The pre-revolutionary France was characterised by feudal economy and society
because of

i. Existing royal absolutism.

ii. Prevailing government corruption.
iii. Division of French economy and society into orders or estates.
iv. The formation of the National Assembly.

Which of the statements given above is/are correct ? Select the answer from the
options given below.

A) Only ii and iv B) Only iii

C) Only i D) None of the above

The National Education Policy (NEP) addresses many growing imperatives of India
because

i. It will help establish highest educational standards.

ii. It will facilitate Indian educational institutions to set up their campuses in foreign

countries as well as allow foreign universities to set up their campuses in India.

iii. It lays emphasis on multidisciplinary education to result in high quality learning and

research.
iv. It focuses on no separation between the streams of arts, commerce and science.
Select the correct answer from the options given below.
A) Only ii B) Only i

C) Only iii and iv D) All of the above
-4-
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7. Match the List — | with List — Il and select the correct answer using the codes given

below the list.
List -1 List -1l
(Peak) (Range)
i. Dhupgarh a. Nilgiri
ii. Gurusikhar b. Satpura
iii. Anamudi c. Aravalli
iv. Dodabetta d. Annamalai

A)i—d ii—c ii—-biv—a
B)i-b ii—d iii—aiv-c
C)i—-b ii—-c ii—-div—-a
D) i—c ii—a iii—div—>b
8. A warm ocean current appearing along the coast of Peru generally during
December
A) Oyashio current  B) EI-Nino current C) Kuroshio current D) California current

9. Consider the following statements related to seismic waves. Which of the given
statement/statements are correct ?

a. ‘Surface waves’ cover largest distance of all seismic waves.

b. ‘P’ waves travel with fastest speed through solid material.

c. ‘S’ waves can pass through both solid and liquid medium.

A) Only a is correct B) a, b and c are correct
C) aand b are correct D) b and c are correct

10. Lacustrine deposits found in the valley of Kashmir

A) Karewa B) Terai
C) Bhangar D) Khadar
11. In which district of Kerala, Dhoni waterfall is located ?
A) Kasargod B) Malappuram
C) Kannur D) Palakkad
12. In which State of India, World’s longest Highway tunnel, Atal tunnel is located ?
A) Himachal Pradesh B) Sikkim
C) Jammu and Kashmir D) Arunachal Pradesh
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13.

14.

15.

16.

17.

18.

Which of the following statement is/are correct about the NITI Aayog ?
i. NITI Aayog was formed on 25" January 2014.
ii. NITI Aayog comes under the Ministry of Commerce and Industry.
ii. The full form of NITI Aayog is National Institution for Transforming India.
iv. The NITI Aayog is a policy think tank of the government of India.

A) Only i, iii B) Only iii, iv

C) Onlyi, iv D) All of the above (i, ii, iii and iv)
In India, GST rate for various goods and services are

A) 5%, 12%, 18%, 28% B) 6%, 12%, 18%, 28%

C) 5%, 12%, 18%, 26% D) None of the above

As per proposals of union budget of 2022 — 23, which of the following tax contributes
maximum share out of the total tax revenue collection ?

A) Union excise duty

B) Corporate tax

C) Income tax

D) Goods and Service Tax

Consider the following statements :
i. India ranks first in the world in fruit production.

ii. India ranks second in the world in the export of tobacco.
Which of these statements is/are correct ?

A) Onlyi B) Only ii C) Bothiandii D) Neither i nor ii

Arrange the following sub-sectors of the service sector of the Indian economy in
ascending order of their contributions to the GDP in recent years.

i. Public administration, defence and other services.
ii. Financial, real estate and business services.
iii. Trade, hotels, transport, communication and services related to broadcasting.
A) i, iii, i B) i, ii, iii C) iii, ii, i D) i, iii, i
Consider the following statements :

i. Agriculture sector’s contribution to the Indian economy is much higher than the world’s
average.
ii. The industry and services sector’s contribution is lower than the world’s average.
Which of these statements is/are correct ?
A) Onlyi B) Only ii C) Bothiandii D) Neither i nor ii
-8-
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19. Which among the following is not a part of the Mini Constitution ?
A) Directive Principles were given precedence over Fundamental Rights

B) Questions regarding elections of President, Prime Minister and Speaker of Lok Sabha
was taken out of the purview of the judiciary

C) Curtailed the Judicial Review power of the High Court
D) Transferred five subjects from the State List to the Concurrent List

20. The Writ that the Supreme Court issues to Inferior Courts or Tribunal Board,
Corporation or any other type of administrative authority, commanding to perform
their official duties that they have failed or refused to perform

A) Habeas Corpus  B) Certiorari C) Mandamus D) Quo-Warranto
21. Which Article of the Indian Constitution specifies the powers and functions of Grama

Sabha ?

A) Article 243 A B) Article 40 A C) Article 40 B D) Article 243 B
22. The idea of a Constituent Assembly for India was put-forward for the first time by

A) Jawaharlal Nehru B) Dr. B.R. Ambedkar

C) K.M. Munshi D) M.N. Roy

23. Who was the calligrapher that hand-wrote the Indian Constitution ?
A) Pingali Venkayya
B) Prem Behari Narain Raizada
C) J.B. Kripalani
D) Krishnaswami Ayyar

24. Who is the present Comptroller and Auditor General of India ?
A) Girish Chandra Murmu B) K.K. Venugopal
C) Shashikant Sharma D) Rajiv Mehrishi

25. The Kerala State Planning Board is constituted to advise the state on development
planning. Which among the following is/are the functions of the State Planning
Board ?

i. Formulating Five-Year and Annual Plans.

i. Writing the annual Economic Review.

i. Fostering cooperative federalism through structured support initiatives.
iv. Interdepartmental coordination with respect to Plan schemes.

A) Only i, ii and iii B) Only ii, iii and iv

C) Only i, iiand iv D) All of the above (i, ii, iii and iv)
A -10-
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26. Which of the following statement is/are correct regarding the Kerala State Disaster
Management Authority (KSDMA) ?

i. The Chief Minister of Kerala is the Chairman of KSDMA.
ii. The KSDMA is an autonomous body with non-statutory powers.
iii. The KSDMA has ten members.
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)

27. Which of the following statement (s) regarding the Mahatma Gandhi National Rural
Employment Guarantee Scheme (MGNREGS) in Kerala are correct ?

i. The MGNREG Scheme is fully implemented at the Gram Panchayat level.

ii. The Gram Panchayat Secretary is the registration officer under MGNREG
Scheme.

iii. Both men and women mates are the beneficiaries of the Scheme.
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

28. From the following table, find the proper match between the columns of Digital
Initiatives and the Projects/Programs as part of e-Governance in Kerala.

e-Governance Initiatives Projects/Programs
i. Knowledge/information Dissemination a. State Data Centre (SDC)
ii. Delivery of e-Governance Services b. Akshaya Centre
iii. Integrated Personnel Services c. KFON
iv. Core Connectivity Infrastructure d. SPARK (Service and Payroll Administrative
Repository for Kerala)
A)i—-aii—-bii—-civ-d B) i—-b ii—aii—-div-c
C)i—cii—-bii—-aiv-d D)i—-dii—cii—-biv—a

29. The Department of Women and Child Development was established in Kerala in
2017 to ensure holistic development of women and children. Which of the following
function (s) are associated with the Department ?

i. Provide for effective protection of women against domestic violence.
ii. Protect women and children from sexual abuse and trafficking.
iii. Advise the Government on all policy matters affecting women.
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)
A -12-
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26. Gsger wmhlev CuflL i Gevressiens yeenrwib (KSDMA) Ggm_iimes 19616 pLd
Wsmssailcy 615 Filwimerg ?

i. GCagar pseveur KSDMA @)eir semeveurt
ii. KSDMA ereirig o1 L fBwner @S miniseaerd G&messi @b Seresiml &)
QELDLILITEHLD.
ii. KSDMA Ligg o miLifestigsenerd 6l&mess(hereng.
A) i wpmb i oL Bb B) i opmyih iii tor” B)ib
C) ii opmyeb i or” Bib D) GuGev 2 siter yewesiggiib (i, ii, ii)

27. Gsgemnaiey o 6rer Lo&msLom SM1HF CsFw 2engs Cauevev 2 miFs i 1b (MGNREGS)
Qg mL_iLimes LeTaupLd mdenssallcy 618 FMwmeg) ?

i. MGNREG @ _1b &gmio Liehamusgy sjemailed (Lppeiowins OlFucoLIhSSLILIBB DS
i. @gmo uesFmusg OFwevmert MGNREG S g&er &1p LSay ClFiis yHsmi gyaumi.
iii. opever Lopmyb Glietr @QheuBCGL @SS LSSt LiwesralseT
A) i wpmb i oL Bb B) i opmyeb i or” B
C) i opmyb iii oL (b D) GG 2 erer yemesiggiib (i, ii, ii)

28. esreupd 9L euemewtulled Q)BH&I, YL (LpetT pwpHsaier OB eudlens
F@hbGHLb, Cagarmalley LOleT 9y @penioulledt @@h LIGPWTH 2 6iTer HL L 51%EHd LD
Qe Gw ghlwner QOLThSS5eSd ST plwiayLb.

LHGHT 94 @IHELD (LPWIDF)FHGIT L10gmGlegdL" /o oQlgmdamLb

I. 9Mey/sH60160 LITLIL|SG6 a. ke uay ewwd (SDC)

ii. Lhlesr g @pemid CFremeusemar auLpBIGHHew . ampwim ewiowith

iil. @uBSoentbs seflbLir CFeaaiser c. KFON

iv. Gamir @ementiiL) 2 6THL L eoLDLIL] d. SPARK (Service and Payroll Administrative
Repository for Kerala)

A)i—aii—b ii-civ-d B) i-b ii—aii—-div-c

C)i-cii—-bii—-aiv-d D)i—-dii—cii—-biv—-a

29. Glueraer oPpmILb &LoBESHETGT (Lp(LPEOLOWITET uaTiFRenw 2 G CFuicusHHTS
2017 gyib yew(® Cagarmailed GClLewraer wHMILD &LpbeSHenr GLoLbLimL” (HdgIem
Blmieuliu L g). L9eteu@pd CFwueLIT(hSefled 618 HlemmuL i1 QST iLjenL W 2

i. @B GT(LPeODEE 1B TS ClLIGTSGNGT LILGHIGTAT LITSISTLIGHL GULPBIGHEGD.
ii. meSlwed gaw AgGuingsb LoPpmib H1L_G5e0le0 @) (BBESI CILIGSISET LOHMILD GLPBEDSHEGTLI
LIMT|% TS 60
iii. Cuersemarts LTHGGLD ersg CETeTens allapwBiseleb 9 TFTBISSSD S
2, CTFeeT QULpEIEHSH6D
A) i wpmyb il o Bb B) i ommyih i or” B1ib
C) i opmyb iii o (HLb D) GuGev 2 siter yemesiggiib (i, i, iii)

A -13-
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30. Which of the following statement(s) regarding Lok Ayukta and Upa-Lok Ayukta in
Kerala are correct ?

i. The Governor appoints a person to be known as Lok Ayukta and two other persons
to be known as Upa-Lok Ayuktas.

ii. A person who holds office as the Lok Ayukta or an Upa-Lok Ayukta, after completion
of tenure, are eligible for re-appointment to that office.

iii. The Lok Ayukta Act deemed to have come into force on November 1998.
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)
31. The Kerala State Literacy Mission Authority (KSLMA) is an autonomous institution

under the General Education Department, Government of Kerala. Find the correct
statement (s) associated with the Mission.

i. The beneficiaries of the Mission are illiterates, neo-literates, school dropouts and
those interested in Life Long Education.

ii. The Mission creates scope for application of functional literacy to improve living
conditions and quality of life.

iii. It informs the people about developmental and welfare projects of the government.
A) Only i and ii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

32. Kudumbasree is a poverty eradication and women empowerment programme

implemented by the Kerala Government State Poverty Eradication Mission

(SPEM). Find the correct pair of Program Domains and Key Programs of the
Kudumbasree.

i. Women Empowerment < National Slum Development Programme (NSDP)
ii. Economic Empowerment < Collective Farming
iii. Social Empowerment < Destitute Identification and Rehabilitation
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)
33. The Directorate of social justice is a State Government machinery, which acts as
the implementing organisation of all the social justice initiatives for the appropriate

beneficiaries. Find the correct pair(s) of Social Justice Initiatives and the Beneficiaries
promoted by the Directorate from the following set.

i. Niramaya Health Insurance Scheme < Differently Abled
i. Samanwaya < Social Defence
iii. Abhayakiranam < Women Destitute
iv. Sayamprabha Home < Senior Citizens
A) Only i, i and iii B) Only ii, iii and iv
C) Only i, iii and iv D) All of the above (i, ii, iii and iv)
-14-
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Gagarmailey o eirar Cevnd ussm Hmb 2 Lim-Gevnd ussm O&mLimest
L96sTeUHLD WS SSHaNGD 618 FMWITesIS).
i. Govnd 9uSsT eTediny e PpdHLILIBILD @ BLTUjLD, o LT-Bevnd o ujdbsTdhser
eTesTm YPIWLILIBILD @)uest(h) BLITHEGTILD 9,@bbT HwLDSEDT.
ii. Govrd b1 Yevevg) 2 LiT-Cevrd 9 ujbsmalns LiFal euGdEGLb e, LSallssTeuLlb
LY hs LD, SbF ANIUWESB D@ LB TR Bluioetib ClFuing F@&SH L e waur.
iii. Gevnd uidsm #1"1_1b paubiyt 1998 @ev penl_(Lpedmd@ aUbSST5S HBSLILIGH DS
A) i wpmyb ii ol (HLb B) i ommyib iii or” B1ib
C) i opmyb iii or” (b D) GG 2 éiter yewesiggiib (i, ii ,lii)
Gsger wplev erpssmlay Liewnfl yementiwib (KSLMA) ereirLig Csper oypfler Gluing)d
svalld Giewpullesr Fp QubIGLD @ SHTRTTLF FlDIUGTLOT@LD. LiGww)L_ 6T
Qem_iyevL_w FAwnest oM sEar st (h LIy SBa Lb.
I. @SFI L FG 61 Lwetraiser LiLg L1 mlalevevTsaliser, LB Sevalimnle] @)eOeVTseiseT,
ueafl L ey LurGuied BmISHweuiser wPmIb UTLPBHTGT Lp(Lpeudih Hebailufed
9 TRU(LPGTGTR TS GIT.
ii. GumLpdens BleOeUELLSET LOHMILD QUMLPEHES STdend GLoLbLI(BSSIeUSHS 1% O\FweOLITL (B
sevaflwPlenals LWGTLIRSSI0SDSTeST ChTés5m% LIay6T 665815015 T1H D).
iii. %}gﬂ 9TFTBIGSBGT UTTFF LoHMILD Bevd B L BISEGTLI LD DS @HdSHS

EJOVEIZIETR
A) i wpmib i o Bb B) i opmyib i o” (B1ib
C) i opmyb iii oL (b D) GuwlGe 2 siter gemesggiib (i, i, ii)

@OLDLILYS 6T65TLI) GumienLd RLOLIL] LopmILh O)LIGssTSH 5% B HTILLeREGHLD DL Lom@LD, @)%/
Cager 9pflest aumienio LIy @Quissssmed (SPEM) CawevLi®s$sL1L®BmSI. &G bLLsfuilest
Fiflwrest Gapmig Bloed STBISGT LOHMILD (PGB BlTOS6Td BT HIeyLb.

i. Guessigser Fsmrweldse < CasAw Gyems Cubum Bg S b (NSDP)

ii. Qurperigmy auayayl L b < Fnl’ () aleudFmuLb

iii. Feps YPSTIWNSHD & YUSTUDDAUTFEEOT YL WTATLD HTEYIFH60 LOHMILD

Lomieumpey OlFuised

A) i wpmib ii o (H1Lb B) i opmyib iii 0" (BH1ib
C) i opmyb iii o (HLb D) GG 2 ¢ter yemesiggiib (i, i, iii)
FoLps BFSHIGS QUi @BISLD 6TGHTLIGI LOTBleY YT QUIbSITEGLD, Q)& ClLmmdsLomest
LIWIGTTONS @S ST HYmesiSg Feps bS) (pupFsenenyd OFwevLI(HSHID eLDLILITS

QFwLIRBDSI. QuSGHBIsSST60 allarbLgliILBGSSLILIRLD FeLps BG) (LpeT (LPWPHFF6T
wpmith Lwestefsefes Fflwrest Gemg Senerd SevsrL_plwiaLb.
I. Blomowr 2 1_wpevd STULT HS FI L b & wimmis Fwestrelser
il. FLOGTOUMILIT & FeLps LITSIHTLILY
iil. QLW genTD & OIS YFTUDDCUTHCT
V. Fmublgur @evevid < eLpdS GHLYLDSSET
A) i, i opmyLd i o (b B) i, iii opmyib IV oL” b
C) i, iii opmytb iv oL” BHIib D) GuGev 2 siter yemesidgiib (i, i, iii, iv)
-15-
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34.

35.

36.

37.

38.

Which one of the following legislative procedure is not a device used for legislative
control over executive in the State Legislature ?

A) Question Hour B) Calling Attention Motion

C) Governor’'s Address D) Adjournment Debates

Which of the following statement (s) regarding the ‘Citizen Charter’ of Kerala Local
Self Government Department is/are correct ?
i. Itis published with the aim of providing the quality of service rendered to the public.
ii. It provides information regarding the mandates of the concerned department.
iii. It describes the services offered by the department at a time limit within which the
services are provided.
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

Which of the following statement (s) regarding the Governor of States in India is/
are correct ?
i. The executive power of a state is vested with the Governor which he/she exercises
himself or through subordinate officers.
i. The Governor gives assent, withholds assent or reserves for the consideration of
the Bill passed by the legislative assembly.
iii. The Governor is consulted for appointment of judges of the High Court.
iv. The Governor cannot act at his/her own discretion while performing his functions.
A) Only i, ii and iii B) Only ii, iii and iv
C) Only i, iiand iv D) All of the above (i, ii, iii and iv)
From the following list of medical procedures, choose the ones that could generate
aerosols and hence aid in the spread of COVID-19.
i. Intubation.
ii. Arterial Line insertion.
iii. Central Line insertion.
iv. Laboratory Centrifugation.
v. Percutaneous Intervention.
vi. Manual Ventilation.
A) Onlyii,ivandv  B) Onlyi,ivandvi C) Onlyi,iiiandvi D) Onlyiand vi

The correct HIV life cycle sequence is

A) Fusion — Binding — Budding — Reverse Transcription — Integration — Replication —
Assembly

B) Integration — Binding — Reverse Transcription — Fusion — Assembly — Replication —
Budding

C) Integration — Binding — Reverse Transcription — Fusion — Replication — Assembly — Budding

D) Binding — Fusion — Reverse Transcription — Integration — Replication — Assembly —
Budding

-16-
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L965TeUHLD FL L LDGTD B (LPe®DEHaNGY 615 LOMBIeV FL L LDGTDSEHGV 616w THs S 6o
55 FLL_1o6iIpd S HLIUTL 19 D@L LweTL(RSSLILI(BDILD FISETLD 6V ?
A) Gsxerad GruLb B) seuaisens mid@ GFwed
C) seuriewii 2 ey D) @s@emeutiL alleunssiser

Cagar 2_eitemtL” §g H1enmuilet ‘&L Lods6i FraesiLd ClFmL_iLimest L6sT6a(hLD HYMl%eSHa e
615 FAWTGTS).
i. QurgIssErd@ aupBIsLiLGL Crameauie sidas apmGd CrréHed Qg
Qevefuf_Lii” (Herargy.
ii. @& FUBSLILL L S1eODUNGT YeeTHET LPBI SHUCOEET GULPEISHH DS
iii. Gremeu aupmISLILIRL HTeVd0)%[Haley Flempuwimed aupmiIsLiLI(b Crepeusemar Q)5
N EARNE TR
A) i wpmiib i o Bb B) i opmyib iii o (H1ib
C) i opmyb iii oL” (HLb D) GuGev 2 siter yemesiggiib (i, ii, iii)

@pFwralled 2 erar LoaBlevBisaileT g @ppenTl LPpPl LIeTaI(HLLD FnpmiSeicd 615
Flwmesg)
I. @ rblevs®er Flavn Coupm FTb @bpML_LD @LILIGHL SSLILL (HETTS. e
D QUIT/ UG STeITSH 3eOeVd BLbBlencv B TS epevib ClFwWeOLI(BHSHIB DT,
ii. #L_ewssmed FlevpCaupprivi L wCFigmallest LNFeaeaTd 2),ebbT GLILIFD
eflEH DT, @LLF® BNISHIBDIT evevd Q)(BLIL eudEF .
iii. 2wi G FHLSS®er Hlwhés seuieri g Cevngeaest Gl mi.
V. 9 eppi searg Leflevwd GeuiybGLing 9eugg Oembs a@pLiuiiug GFwedi
PG UITS/.
A) i, i opmyLd il o (BH1ib B) i, iii topmyid iv or” HGro
C) i, ii opmyb iV o (HLb D) GuwlGe 2 sirer gyemasiggib (i, i, ii, iv)
L9616 (BLD Lo(5SSI6U BeOL_(LpemEHenet LI 19 weSed(hgi, eTCITOFTCOSEOGT 2 (h6LTSHS:TnLg LI
wpmitb COVID-19 ugeyeugn@ 2 seaudamigwaipensd Csin0ls(HdsaLb.
I 2" 1j@dFed
i. sLesf] euf OlFmsed
ii. wsFw el ClFmesa
V. @ uies enwallevdd
V. QuigCLeflwev senevui®
Vi. e@apeyn STHCDIL L LD
A) i, iV opmib V oL” (b B) i, iv opmyib Vi o H)ib
C) i, i opmyb Vi or” BLb D) i opmyib Vi o HCro
HIV-uler sfwnest eumpsens &pmp§ euflens
A) @eenissed — Llenenidset — auarhsed — MGeauiten g greTav @ NLIauesT — (hEIS e eRTLIL|
— Q1R Csaest — 9 G)FLbL16)
B) emBi@ameniiL — teenisgsed — MGeuiav 19 greev& liaye — () emenrdsed —
9O FibLief — QO rL1al CHa6T — auaThH6L
C) enr@eameniiL— Lemeansisgse — MGauian 19 greirev®)fLiaue — @)enenidsed —
Orief Csaer — 9 O\FLb L1 — uaT(hF 6D
D) Wewentsged — @enenidsed — MGeauian 1y gretav@)iLiaueT — e hBIGeenTLiL) —
QrLief Cager — 9 GlaibLiaf — auar(hEed
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39.

40.

41,

42.

This form of poisoning affects Cytochrome C oxidase and a progenitor form of Vitamin B12
is usually administrated as first line treatment. The condition of concern here being

A) Carbon monoxide poisoning B) Cyanide poisoning

C) Phosgene poisoning D) Arsenic poisoning

Choose the odd one out.

A) Levo-Thyroxine  B) Oxytocin C) Glutamate D) Acetyl Choline

Choose the correct statements :
i. Wernicke Encephalopathy is caused due to niacin deficiency.
ii. Korsakoff syndrome is caused due to a thiamine deficiency.
iii. Both disorders are associated with heavy alcohol use.

iv. Immediate treatment can reverse Korsakoff syndrome but cannot reverse Wernicke
Encephalopathy.

A) Only i, ii and iv B) Only i and iii C) Only ii and iii D) Only ii, iii and iv
Match the following.

a. Productive Cough p. Zika Virus

Typhoid

Atypical Pneumonia

b. Thrombocytopenia

L

c. Foetal Microcephaly

_-‘

d. Pelvic inflammatory disease s. Gonorrhoea
t. Typical Pneumonia
u. Dengue Fever
A)a-r, b—-p, c—s, d—q B) a-t, b—-p, c—u, d—q
C)a-t, b-u, c—p, d-s D)a-r, b—u, c—s, d-s
43. The COVID-19 Vaccine Sputnik V is of which type ?
A) mRNA vaccine B) Viral vector (Adenovirus based) vaccine
C) Inactivated vaccine D) Protein subunits vaccine

44. From the following list, choose the ‘incorrect’ statements.

i. Type 1 diabetes is the result of an auto-immune response.
ii. Type 2 diabetes has a strong genetic correlation.
iii. Type 1 diabetes is a fairly common lifestyle disease.
iv. Severe obesity is a risk factor for Type 1 diabetes.
A) Only i, ii and iv B) Only iii and iv
C) Onlyiandii D) Only ii, iii and iv
-18-
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39. Qs auevswret alaub s GL_rsGamib § ysFCL e LTHSF DS LoHYILD eeuL” L LAl
B12 @it (1pesrGastig augaih (psev euflens FGFenawins blicusssL LGS DS @5
FaUanevs @M Bleney

A) smiuet Gurernseng® aflayLd B) swewer(® alayLd

C) wumevgdeir allayLb D) gigadls allapLb
40. a$Pwnsoner eetenmd Csiih6)s (B mis%er

A) QeGeur-enggndedes B) <dadlrfer

C) @ep L Gl D) w@enr_cv Camader

41. giwnes yPsessamars Csin0ls(BHEsa L.
i. Hlun@esr GeopLn® smgestions Gleuieds 61a6lFLICTLS eIdLIBGS DS
ii. Swmblet @GenpLnry srgentons CasmiaGsmsls Crmiidken anL®S D).
iii. @ues(®y) Csmearimys@pd HHF Yvsanted LwGTLTL GL1® CSMLiLjeL_weal.
iv. o1 arg AGFewFwners CemigGsmols Grmiis@plenws oaPPIIEHLDSEHETLD Y 6STT6eL
Oeuriels e1es1O)FLICTLIG oW LOAHD (LPLGWITS]
A) i, i opmyb iV oL H)Lb B) i wopmyib iii or” H)ib
C) ii ommyeb i or” Bib D) i, iii topmytb iv or”(H1ib
42. esreumeussiaupen GlLImbEsa Lb.

a. LgnL_&1961 oL p. s emaugav
b. $CumbCuneng” CL_miiesflwim q. eL_Limui(h)
C. L9L6b ewadCum e1651LITGS) r. erng 96 BCGLomesiluim
d. Quiaild @esro% iCGevior_iM Grmi S. GanGestmiuim

t. 9s60 HComesfluim

U. Q_mig smigsed
A)a-r, b-p, c—-s, d—q B) a-t, b-p, c—u, d-q
C)a-t, b-—u, c—p, d-s D) a-r, b-u, c-s, d-s

43. COVID-19 s@)iyd eviyasfls V e1hs auenseaws Caibss 2
A) mRNA s®LILS)
B) emeugav QeusL i (=g Castmemaugev 2y LiLienr_uflevmnest) &@HLILLE
C) Qewallpps 56HLILS
D) yos siyefl’ By
44. 9ereu@pd UL 1gwenev o (hauns® ‘Saupret yPlsaassamars Csin0)sHdsa L.
i. Bilay 1 euews ereirg @b Setafluds CrrowG iy wmi6lomysuiesr
aflenareun@Lb.
i. Biley 2 euenas Crmiid@ aueeuTest LOILISY GCIFTL_TL| 2 6Teng).
ii. SAleay 1 euens ereiigy Fab CLmgeuTeT eumpsenss (Lpevm GBmuim@Lb.
V. s@enwrer o L6 L@gLoeT pilley 1 euemas Crmiissmet oy Lids Hmesst
A) i, i opmyd IV o H)Lb B) iii opmyib iv ol (Hib

C) i opmyb i o” B)Lb D) i, iii Lopmyib iv or” Bib
A -19-
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45.

46.

47.

48.

49.

50.

The equilibrium state of a rectangular block of height H = 6.0 cm and density 900 kg/mé3,
which floats in a liquid of density 1350 kg/m? is as shown in the figure.

If the block is pushed downward so that it is fully submerged and then released,
what is the magnitude of its upward acceleration ?

A) 3.27 m/s? B) 4.90 m/s? C) 9.80 m/s? D) 14.7 m/s?

Arjun had a dinner rated 1000 kilocalorie. He wishes to do an equivalent amount
of work in the gymnasium by lifting a 50 kg barbell. He can raise the barbell 2.0 m
each time he lifts it and he regains no energy when he drops it. How many times
must he raise the barbell to expend this much energy ?

A) 240 B) 1020 C) 2100 D) 4200

A sky diver jumps out of a hovering helicopter. A few seconds later, another sky
diver jumps out and they both fall along the same vertical line. Ignore air resistance,
so that both sky divers fall with the same acceleration. Which among the following
statements is/are correct ?

i. The difference in their speeds remains the same throughout the fall.

ii. The vertical distance between the divers stays the same throughout the fall.
iii. The first jumper always has a greater speed than the second.
A) Only iii is correct B) Only i and ii are correct
C) Only i and iii are correct D) Only ii and iii are correct

In the March 2022, the quadrupole mass spectrometer CHASE — 2 onboard the
Chandrayaan-2 mission observed the global distribution of Argon — 40 in the lunar
exosphere. What does CHASE - 2 stand for ?

A) Chandra’s Atmospheric Composition Explorer — 2

B) Chandra’s Altitudinal Characteristics Explorer — 2

C) Chandrayaan Altitudinal Characteristics Explorer — 2
D) Chandrayaan Altitudinal Composition Examiner — 2

Which shape is associated with the orbital designated byn=2,1=1 7
A) Spherical B) Tetrahedral C) Dumb-bell D) Pyramidal

The azeotropic mixture of HCl and H,0 is

A) 36.6% HCI B) 20.24% HCl  C) 48.2% HCI D) 57% HCI
-20-
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o wyb H=6.0 cm wpmib 9y iig% 900 kg/m? Gsress g Glaaicuss 6% m@S ulles
Foplencv, @& 1350 kg/m® 91155 Clsmenr HragHev LIsEE DS LIL FHed ST L L

UL (heTeng).

9bs Os1GFwnesig SpCrTE&Hs Serariul (), F (LPULPMSILDTE epLpF), Llesrei
B aIGsLILIL L T6ev, 9FeT CocvCrrs&w (Lh(HSSHSH G 2 6Tay TGS ?

A) 3.27 m/s? B) 4.90 m/s? C) 9.80 m/s? D) 14.7 m/s?

9ieg9esr 1000 & CeovraGevmifl & i levrest @uey o ewteneu FTLILILC L M. @dlibestm FluidFev
50 kg ereoL_wjeirer LimiGlLchenevd 15 @&HeUSe6T eLpevLld FMH&HF FLOLOTET CoUemeVdHeard
Qe seuir aflBbyFmri. eui @eiOeunm wpepub Lmibludee 2.0 M 2 wigs
W uyib, ywss 8 QG Cuig et Yyppeaew Gupaldamev. @)6Iaeare,
<UD OFaIflES Yali eTdFemaT (Lpep LMTOLeme o wids CousssGlb ?

A) 240 B) 1020 C) 2100 D) 4200

uppg Osmessiy dHs Capedlsriifed Qbid R0 avens L aui GDSHTi. Fev
alesrmg sepsGL LID@, HGDIM evens yengeui OeuallCu &SHdsmi, @) mweurpd Gy
Qomigss Camig6d allpPlepeTi. FTHDI TH LI Lipdsenildssalb, @)FeTTed @)T6ur(h)
avend L1y egauisesb @G (LpBSsdHIL_6T allLpaurt. LIeTalbLb Fmpmiseilch 61g) FilwmesTs ?

I. euppdler CousdGev 2 aitar Couniim® $Cp adlpLd Faevib (LpLpeusitb Gy onB)f
Qs&Lb.

i. eeuiav @ent_Guw o etar CFBIGSH Sod &G aflwptb Fmevib (LpLpeugith Gy
LoaS Mwns ()@ Lb.

iii. sl GFSFeut eriCGLTFID QuedTL_Taug HDIseuewg i 9yPs Cousdass

Q)& mevsTLy (BLILITIT.
A) iii o" ®Cro Flwnesgy B) i wopmyib i " BHCo Fiwmesia)
C) i opmub iii " BHCro Fflwimresigy D) ii opmyib i or” ®Cro FMwimesigy

wrig 2022 @b, FHFTMWeT — 210apet HL1LIS6 2 6Ter GeuTL epGLImTed Lbmev
av0lus L Cpmibi L i Gaev -2 (CHASE — 2)an8 561 Glouafliim 1ged gy igmesr — 40 @)eir
2 gaTTallw LIfouenevd Fealetldssl. CFav — 2 6Tevssd GPISFnSG 2

A) Chandra’s Atmospheric Composition Explorer — 2

B) Chandra’s Altitudinal Characteristics Explorer — 2

C) Chandrayaan Altitudinal Characteristics Explorer — 2

D) Chandrayaan Altitudinal Composition Examiner — 2

61hs augaub N =2, | =1 g6 Ggplésliu’ L appiliLmensyL 65t ClSmLiLjeL_wg)
A) Gsmerib B) G gn@an gev C) L_1b-GlLicd D) Qgh_ed
HCI wopmpid H,O @eir e Guim” Gumi9s sevenal

A) 36.6% HCI B) 20.24% HCI C) 48.2% HCI D) 57% HCI
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51. Calculate the pH of 0.001 M NaOH solution.

A) 3 B) 10 C) 11 D) 7
52. Which noble gas do not form clathrate compound with quinol ?
A) Neon B) Argon C) Krypton D) Xenon
53. “This Life at Play : A Memoir” is a book on the life of
A) Girish Karnad B) U.R. Anantha Murthy
C) B.V. Karanth D) Raja Rao
54. “There Comes Papa” is a renowned painting by
A) M.F. Husain B) Anjaly Ela Menon
C) Raja Ravi Varma D) Rabindranath Tagore
55. The South Indian singer who won Padma Bhushan in 2021
A) S. Janaki B) K.S. Chithra
C) S.P. Balasubramanyam D) P. Susheela
56. The total number of teams participating in 2026 Football World Cup
A) 42 B) 38 C) 48 D) 34
57. Salman Rushdie’s work published in the year 2021
A) Liberalisation B) Love is an Ex Country
C) Languages of Truth D) Empire of Pain
58. Who won Fukuoka Grand Prize 2021 ?
A) Karan Thappar B) Vikram Seth
C) Palagummi Sainath D) Kuldip Nayyar
59. The winner of Dada Saheb Phalke Award 2019
A) Amitabh Bachchan B) Lata Mangeshkar
C) Rajinikanth D) Dev Anand

60. EEPROM stands for
A) Electrically Erasable Programmable Read-Only Memory
B) Erasable Electronic Programmable Read-Only Memory
C) Electrically Enabled Programmable Read-Only Memory
D) None of the above

61. Program that translate high-level programming language into machine code

A) Compiler B) Assembler C) Interpreter D) Both A) and C)
A -22-
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0.001 M NaOH sewgsellesr pH @9d semrs&)_ayLb
A) 3 B) 10 C) 1 D) 7

@UileTayL_eT FarrsCrL seveneuenw 2 (heurssms Crriier Csev 9OeVTsS 615 ?

A) Bluwmer B) wyismeir C) @ici_ar D) OQgesrmesr
“Glaiv e6vo%Ls L L1Gar : 61 QoGLomuit” eTed1LIg) Q)6undy eumpdendemwit’s LHIIL LjdssLb
A) @iflely Fiestm B) U.R. waps epiiss

C) B.V. snupg D) gnggm gmeis

“Oswir sbev LT eTeTLISG (B Qeufet LSPOILIDD gailuih

A) M.F. amoewesr B) <epaad) erevm Grocrest

C) prgor gall euriom D) 1a96@ 0518 Sndmi

2021 @6b LG Laper Ceussip OseredlbGw LML i

A) S. @1e®) B) K.S. @ggr

C) S.P. unevsLigioessiwib D) P. &&em

2026 smev gl 2 ewasd Casmiiemuiley LBICsH@L Olonds ojewlsaie cretresstiseans
A) 42 B) 38 C) 48 D) 34

2021 @6 Glevwafuf 11" 1 FeOLOTGHT (el U6t Lieni 1Ly

A) SlugenevCayayeir B) evel @ev o6t 616 FHetri )
C) GovmigGougev opo%Ls L ehd D) enbemriwi oLt GlLiudesr
2021 gy 1b Yy er(h) o%oL|&Counsm GFpnenrl” Lewgev WIhdhE HeoL_S55

A) sgesst st B) aflémb Gss

C) umev@LbLh) Fmiipsg D) @Sl puiwmt

srar #10sL1 LTvGs allmg 2019 Geusiipat

A) sl LgFeT B) ewsr wniGsaysit

C) reflallsmps D) Gsei yemps

EEPROM ereirLigetr s(hdssLd

A) Electrically Erasable Programmable Read Only Memory

B) Erasable Electronic Programmable Read Only Memory

C) Electrically Enabled Programmable Read Only Memory

D) @eeu 61810 b Q)ebeney

2 wi-FHlenev GomPludwed LCrmFgnenis QuibFodh GMTL_1% apmiLb FlIed
A) sibemLievi B) wQgibileri

C) Qe maQy L i D) A) wpmib C) @oessr(pLb
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62.

63.

64.

65.

66.

67.

68.

69.

Debian LINUX is
A) Desktop Operating System B) Server Operating System
C) Both A) and B) D) None of the above

What is the full form of CERT-In ?

A) Computer Emergency Response Team — India
B) Computer Emerging Restriction Team — India
C) Computer Efficiency Response Team — India
D) None of the above

is a collection of internet-connected devices, such as servers, PC’s
and mobile phones, which are infected and controlled by malware.

A) Router B) Firewall C) Botnet D) VPN

In case of any information sought is related to the life or liberty of a person, the State
Public Information Officer is required to provide such information within

A) 12 hours of the receipt of the request B) 24 hours of the receipt of the request
C) 48 hours of the receipt of the request D) 72 hours of the receipt of the request

The right to service mentioned under the Kerala State Right to Service Act, 2012 is
available to

A) General Public B) Concerned Persons
C) Eligible Persons D) Applicants

Among the following which is specifically mentioned as a right of consumers under
the Consumer Protection Act, 2019 ?

A) Right to Consumer Education B) Right to Consumer Awareness
C) Right to Consumer Protection D) Right to Consumer Sensitisation

As per the provisions of Transgender Persons (Protection of Rights) Act, 2019, a
certificate of identity as transgender person can be issued by

A) District Magistrate B) Chief Judicial Magistrate
C) First Class Judicial Magistrate D) Executive Magistrates

As per the POCSO Act, 2012, the punishment for penetrative sexual assault is
A) Not less than 3 years but may extend up to seven years

B) Not less than 5 years but may extend up to ten years

C) Not less than 7 years but may extend up to imprisonment for life

D) Not less than 10 years but may extend up to imprisonment for life
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O_r9wesr LINUX eretriigy
A) OLevdms r1Gr 19 B4 FavL_Lb B) #ieui 9iGri 19 Bid e b
C) A) wpmib B) @uess(p)ib D) @eabwsieb @evensy

CERT-In @)eir 1pp auigeuth ercsrer 2
A) Computer Emergency Response Team — India
B) Computer Emerging Restriction Team — India
C) Computer Efficiency Response Team — India
D) @eeabugeyb @evenev
e1e71LIG) LomeOCaur SLbOLimpaTTed LITGSSLILIL () S HLILBSSLILIBILD
Fieuiser, PC ser wpmpib Guwrewiuey Gurerser Cumern ()6 ewrid gL 6o
QenesrssLILL L Fngemisaiest O)&m@LILm@Lb.
A) el B) o%emiweveurey C) Gum GlpL D) VPN

GaL_L1LL" (B eu@bLd (b BLAGT UTPHS VS FSHBT BL_culydend Ol ML_LITesT
aCGseih $a6ucd Q)hHST6, LABleV OGS SH6ucd YBSTH YSSMHIW FH6UHGV
@SS LoGWTI% @S5 &6 2 6@ 6T auLpmis Cauesst(hLb

A) @ b Qupiiu’ L g8 12 wesflCrLb

B) @1 1b Cupiii’ L g8z 24 weslGryLb

C) @ 1b Cupliu’ L g&g 48 wenllGraLd

D) & L g6t QupLii’ L g&s 72 wessiGryLb

Gagar Lomblev GCrena o Meniod Fi"1_1b, 2012 651 Gp @B NN L1’ (Heitar Crenar o Menip
A) Qung odser B) wssepujerer pLiiger

C) s@Fwner pLiser D) adesrewriiLigmyiser
Leireupeuetauppled, msiGeuni Lngismiy F1 b, 2019 @er Sip msTGeumhesr
2 Mevowns GpPlliuns Goo Ciul (hererg)

A) msiGeunit sevallésmest o Mevip B) maiGeoumt alfliiyesstiieydsrest o Mewio
C) m&iGoumi ungsmiinsnet o flevw D) msiGeumi o ewrimer o Meoip
B wprienssstest pLIT (2 Menioser Lingamiy) i1 b, 2019 @6 Ly, F(BBEIHSS:ET6T
DL_WTTF FASTVISOLD (B)QUTSETTCO GULPEIS (LPLYUJLD

A) wreul L wrgev®Crr B) sewevenio pSda1emm orghlevs G
C) wse augliy EFsgemp widevGCr D) eré0leavdiger orgdlevs Gy’

POCSO &1 _1b 2012 @)6t1 L11g, euebaypey GClEsmer LImeSlich eueTo)%m(Rew LD TesT

S GOTL_ G GST

A) 3 Y STBHFEFHG GHODaUTS (QEVEM6V, YGTT6D GI(LY YeVT(HFGIT U] HL 19 SHLILIL_GUTLD
B) 5 ehsens@ Gemmeuns Q)e0encv, eoITeD Lidd) e8sT(hE6T UeDT BL 19 SbLT LiL_6UMLD
C) 7 o @T(BhS 65 G®DWTEH, YGTTCO U6 SGHTL_HGT UET L 1§ SBLILIL GUTLD

D) 10 e (h%e5s5@ &HDIITLOCD, Y U6T SEOTL_HET UenT HL 19 SBLILIL GUTLD
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Among the following, which is enacted to prohibit triple talaq ?
A) Muslim Women (Regulation of Marriage) Act, 2019

B) Muslim Women (Regulation of Divorce) Act, 2019

C) Muslim Women (Protection of Rights on Marriage) Act, 2019
D) Muslim Women (Protection of Rights on Divorce) Act, 2019

The population of a city increases by 9% every year. If the present population is 65,400,
what was it a year ago ?

A) 54,000 B) 58,860 C) 60,000 D) 71,286
If x+3 = 2X9+1 , What is the value of x ?

7
A) 1 B) 2 C) S8 D) 4

th
If a train travels at§ of its original speed and reaches its destination by 20 minutes
4

late, find the usual time in minutes taken by the train to complete the journey.
A) 50 B) 60 C) 70 D) 80

The average age of a group of 25 people was 28. If a man of 20 years leaves the
group and another one enters into the group, the average age increases by 2. What
is the age of the new one enters into the group ?

A) 50 B) 60 C) 70 D) 80

Find the sum of all multiples of 6 those lie in between 100 and 400.
A) 12450 B) 12201 C) 12500 D) 12750

Choose the next number in the series. 4, 9, 25, 49, 121, 169, . ..
A) 196 B) 225 C) 256 D) 289

If 1*November 2001 is Wednesday, 15t November 2005 will be
A) Friday B) Saturday C) Sunday D) Monday

If Varun is in the 15" position from the bottom of a queue of 30 people, what is his
position from the top of the queue ?

A) 14 B) 15 C) 16 D) 17

Choose the value of 54 x54x54+3x54x54x46+3x54x46x46+46x46x46

54x 54— 46 x 46
A) 1250 B) 1350 C) 1450 D) 1550

If ‘AMERICA’ is coded in a certain way as ‘BDJSFNB’, find the right option for
‘ENGLAND’ coded in the same way.

A) EOHMBOF B) EOBMHOF C) FOHMBOE D) FOBMHOE
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LesteupeuaTeupmled (pdFndbamssd senL ClFuw QupoLiLL (ReTerg)

A) wpaveSid GClueiser (S HLoewt e(Lpmi@ (Lpewp) FLr b, 2019

B) wewedid Ouessser (alleusmisgy epni@ wpeop) FLr b, 2019

C) weweSid Gluiessser (S pLoewitd L& mes o MewLodelr @LpmI@ (Lpewp) FLL b, 2019
D) wpavelib Glieraser (alleunasidg) smest o Meioser @pmi@ (Lpewp) FLL b, 2019

R BHISH 6T D& ClFTens ceibleuny ga(Bd 9% 9PsMNsBwal. $HCLTSW
a6 Glgmens 65,400 616ipTeD, G(h UBLSBDG (LPGSTL| &I GTGHGS 2

A) 54,000 B) 58,860 C) 60,000 D) 71,286
X+3 _2X+1 oofen x Q)61 GLIL) eT6tTesT ?

7 9
A) 1 B) 2 C) 3 D) 4

@B JUle ST 9Fev CorussdFev 3 IYorey CoussPev Liwessildgl, 20 BILOL_BIF6T SToFLOTSH
BT Q)VIHMBH YML_bF TV, BT YFov CalsdPled LTSS (LpLgbs Tuiled 6T(hd@HLD
Cruses BIOL_miFalled HessL_mluwieLb.

A) 50 B) 60 C) 70 D) 80

25 Gui Qsmewi Gupadlesr Fgnaf euwgy 28. 20 euwge_w e@eur &paleSppg)
QeualGuig), HODIHaT GLpaled BIOLPBESTD, FmFd auwg 2 HFSMEHDS. & Lpaley
CaFpLd LB weiMest g 61656 9

A) 50 B) 60 C) 70 D) 80

100 $@b 400 @G Qe uied 2 sitar 6 @61 ClLBEHOFHaNGHT Fnl” (HS0)FTemH M W
HEOTL_PlwIeLD

A) 12450 B) 12201 C) 12500 D) 12750

4,9, 25,49, 121,169, ... Qsm_fled 9BHSs crassenenis Cziih0lsBESHaLb.
A) 196 B) 225 C) 256 D) 289

paubuii 1, 2001 yger Glpenio eresipmev, peutbiii1,2005 erasrareuns 4% @)(Hs%@LD
A) OQeveraf B) gall C) @pmullmy D) @riser

30 Guiit Gl mever_ euflenguileh ECLp @) b aumess 15 augy QL sHeb @) BHEST, cullensuile
GLoed @Q)BbSHI aigd Hleoev eTestest ?

A) 14 B) 15 C) 16 D) 17

@s61 wHLiemLG Csiifh0)s (hdbsaLb.

54%x54x54 +3x54x54x46+3x54x46x46+46x46x46

54 x54 -46x 46
A) 1250 B) 1350 C) 1450 D) 1550

‘AMERICA’ e16511151 (15 @m0 qurflufled BDISFNB' 6168t @pludl_riiii” 19 (ppsmev, Gz
auflufed @mlud i’ ‘ENGLAND’ ssresr sflwnest aflpliLigenss sessiplweLb.
A) EOHMBOF B) EOBMHOF C) FOHMBOE D) FOBMHOE
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(i)
81.

82.

83.

84.

iii.
88.

89.

90.

English Grammar :

My father will retire from service a year.
A) of B) on C) in D) by
| saw one eyed person.
A) a B) an C) the D) no article
She studies very hard every night, ?
A) do she B) doesn’t she C) will she D) did she
The brothers as well as their sister good at their studies.
A) is B) was C) has D) are
. The car (break) down and we had to walk home.
A) break B) had broken C) has broken D) broke
Vocabulary :

One word substitutes :

. A small shop that sells fashionable clothes, cosmetics, accessories etc., is called a

A) Store B) Stall C) Booth D) Boutique

. Idioms and their meanings :

The meaning of the idiom ‘to leave someone in the lurch’ is
A) To come to compromise with someone

B) To put someone at ease

C) Constant source of annoyance to someone

D) To desert someone in his difficulties

Phrasal verbs :

She the orphan as her own child.
A) brought up B) brought out C) brought in D) brought about

Foreign words and phrases :

The foreign phrase Respondez S'il vous plait means

A) Summons issued by the court B) Reply if you please
C) Roll of honour D) Etiquette
Synonyms :

Choose the correct synonym from the given options :
Loquacious

A) Talkative B) Thirsty 6 C) Beautiful D) Ambitious
-28-



118/22 -T

91. @mevw LeTenLy LeopFenar F5G5) 61(LpSI%.
SLOLpfe o arengGleb pevgyentia)sar HlaopbE G5
A) sL0lpMer 2 6TengHeh BFeOSYIHTITRFGT 6w b3 (5bS5 6.
B) suipisailer o ereng@ed peveyiewtioyser blenmbS) (bb5e.
C) sulypisaier o o155 peoaietia) BapbebbS3
D) shlplesr 2 eirarib peveyiewticy Blewmeuress).
92. &y eullewsLiLig Carpsemen &i ClFuigy FRlwmaTens 61(LpHI%5.
A) snemev, FmBIG, Fn&, FHOLD, EHDLD B) éowib, &pwib, F81E, FAnG, FTeme
C) s, snemev, @, EDwLd, FHMLD D) #mi@, grevev, EOwLd, HHWLD, AW

93. Hard consonants (surds) @sn@ @eenrwres Lilps GlFrevenev Csiay ClFuIs.
A) auevallerib B) Glevedeid C) @enr_uflewid D) Qg alesib

94. GlumedLo + Gewiib, QFCIFTHODTL_ T Q)eWeRTSG 6T(LHHIS.
A) Qu@ewd@enid B) Guilw @ewrb  C) Gluim@ewiid D) Glupmigentid

95. @1 evip HésLILL L g QML 6oy 61(LpFI%
A) gyerump etenend FLOlLp B) <yesrimevls 9etevers siblLp
C) werunpl Neewars sLlLp D) yewrimed eirar FLOlp

96. 61)1F0ClFTGY H1HEH — 2 Lflew@h
A) arens B) Qe & C) sibevus D) Qrrs&®

97. Deserve first, then Desire @riLipGlomf) o ewriggieus 2
A) wpreuest GasmbLd Ceenidh@ heFLILIL GQUTLDT ?
B) Gleu@pdsblgebeunid Limevr@Lom 2
C) Qeaumymiens wppb Cun®Giom 2
D) Qummgsmi Lh yeraimt

98. Ga1Ggsib ereeyid ClFTOIN @ (@)enewTiTeT 3 BIFeFCIFTH
A) Ruby B) Sapphire C) Sardonyx D) Topaz
99. wuligwed —1 e 2 sirer CFmpsear L 1g wed — Il 6v 2_sirer CFTHO LTS GCLp ClBTBHSSLI
vl Gerer GpluiGsemard Clsmrenr®h) Fiwres aflevr_eowd Csin0lsH\Sa 61(LpSI%.

L quiey—| L gyl

OlFmev Olummeir
a) w% 1. &a
b) @pmuimy 2. apfley
C) BrsLD 3. Guwaib
d) w&ev 4. @hwesr

a b ¢ d
A 1 2 3 4
B) 2 4 1 3
C) 3 4 2 1
D) 4 1 2 3
100. epeirny smevupd @)uess(h OFmpasens@ Qe Gw wepBbS (BLILIS GTGOTLINT.

A) U605 1% B) 2 auemingOsnens
C) o.bewinsOsrens D) aflewers6lsmens
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821061 )M& A
@RBHUDBBHOU

prwwoe) @ibir Cocrod

82103)6188)6S @RS ag)empo : 100

alomouWw]l modHsy = 100

mawo : 90 almlg’

983 )00IdmdlB:RBe0 188 M1dEGUeBMD

. 3210BY HSLIOQ N@HYME 2108y alyes agalowiensm. A, B, C, D agonfl moel @oemo eeowymlenes

32103 alyYBETBEO6M M@HLME.

2. 62108y a )BT DYBslad ESE QLN [IEB 8> CB:08MBIM G2I0B 0 |IMRE> @REHD B0 @l aflsiens.

10.

11.

12.

13.

14.

§0600 HBBHWODMAlHeJ0 MMHIWISIBR 2106 03P BOBHO EHIW BOAIOIOS al@lEud a0dgleel edlal
SO GoeI6Q|S OGO

. Mlem@BenH MG 2IBlon M @OHHO BHOWIM MIMio QAIYMIRAOQ GHOAUIRILER 62103 alJTYEM06M

eIEleemMe®Eslcd @o® ©sms] enadalledlerigoies ¢yELYITINR|SICEMENS®OEN).

321060 1}(Nd: (HAMMIB alj0o 2ISWIOS QILIGIAIED NiBSQODOQS GaIBEISLENE. (@AMMID EDRIOED
62106 §014TYEM06M M6N3WHE) RIEIEOLME®BSIT BOED BOLHUD GHOUSILIYSE 62106 jaliNd0 MOF] AUOEIBYE:.

62106Y allqydo Qleimy modZIMI@ aaLYEONEDOR] Ml 6.21Qfldlenie. HEMOOALIMIMISS BOMYA
2IE12J0RIRI06®m 62103y allydho MIOHHIM aldsipl.

. al@lext mysendlworlysad eaywodmd miles eI adeniam ea106y aliyeomid 100 ealosymealo (B-0m0wl

9B86N30 o)y al@lGUOWIBHHB®OEN. 32I0BY all(RB-OTIT @0.SIBOHOMDE®O, B&5IGIEMI, ANSIBAIdWE®I
BOW BalR)dh0d HENSORIQ); BOLONID HEENSESIM @OLH0 Y0 SHMANLEIERIGOIOS YBHRLEIT HE06NSINICl W0
@OE® EOMHUO GHOUIRLAR o RBENAOW E210BY aly(Rdho BOF] QUOEIBIG®I0 6).218YENZIEM. D® a0
(IWOMEQ|S®mIE.

. 07 8a10B)ealgdleal 1 mymad 80 cuenwigs @2106)eMBWd soyflatilale mdl¥lamow @pa)slajldlenimmy. 0o

@210B)6IB8)6S @RAMA0, BdLEM ag)(MTIaL MoeNIMU] 2] MoVdWETBWRSS Dol MW ya®THlel8E 82106 JIBSI6M'
@RWOODIBN M.

62103 alRRHOTOWR @OOIMOM GalgflNy H®MOZYMIMal BMMo af)PIBOMD O6NE Galg)d(d GoldEISIeNE.
D@ OO0 M8 lISleeM@IMBs @ Clalidden0® Hale@OUslEanIM@IET.

HOTMABR BOEUOE|SIOMIND @RWoElHHIM@IM aJmi’ §EMELHSLIOMINNR MOl }0omI8s WAEZUEBWD
@BRLIAIBQY 0 AU H6)H:.

nAWIEmo §RBeees Boerd caloaymmimo (A), (B), (C), (D) agmm moel semesmd emidenio. vl
QOB HOOSETMSIOTH 6. ag)o. BB, HEMALHSLIOMIE EMWERS B2I0B) MMICIT BMHOW IR LEIW OO0
avgaflafleeyam &g (snienliid) mo@o IRIBWO ©:036af0 0T Balo@I alM ©alc@IUslaf @030 leeyd:.

60600 VAW EMEAIM o 80} MODH6 RIElE6 )W jo 8080 HORIEMEEDTIMIe 1/3 modes Mayadnljew o
621Q)J0. HOMMO BOEUA|S}AMIMM B2I10B EIBUWBE MODLS May@ONH@Ig).

al@le:10 a0 HHIMEIM BIBMLD, HEBELHSRIMI MO lEfleigen agila ¥60emEW 60y HE3Nd@AWI
al@B00000) QS allO@MYBAIB:M alds]g).

mdEGaBR H:dMaoQS] al1oelgenazmoem. aldleHlad (HACHNS MSEMIHEWI @@IMIEs ¢ymo
MSOMIHEWI 6219130 9BBINIAdMAlH68 @REWON IV (altuidallenimmmosn.
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